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Unified theory of force field 

(without a single substance). 
   Box-continuum where each point of its associated mathematical object: the scalar, 

spinor, vector, or tensor. 

   The force field is a vector field whose vector is called the tension: 

𝐄⃗  -the tension of potential fields 

 𝐁 ⃗⃗  ⃗ - tension solenoidal (Vortex) fields. 

    Special points of a field      𝐄⃗   of type focus * (drain, source) is comparable, so called 

them to charge q so that   

𝐄 ⃗⃗⃗  ∙ 𝐪 =   𝐅 ⃗⃗⃗  [Dean, n] 

   𝐅 ⃗⃗⃗  – the force acting on a charge q  , in  𝐄 ⃗⃗⃗   the non-native, and other. 

   When you determine the charge, as its own field, the mean of a coexistence of each 

other, which is impossible. 

   The charge is a property of the singular singular point of potential fields, that is, 

connected with it. 

   What comes first: the charge or the field? That leads to what? 

   Field in the emission can exist separately from the charge, and the charge is not 

(cannot be). 

     In the theories of dal′nodejstviâ are only the concept of charge (Coulomb's law, 

Newton's). In field theories (blizkodejstviâ) charge is of secondary importance 

(Maxwell's laws). 

      In modern physics the concept of fields is more suitable for large-scale events, and 

for short distances and quantum transitions easier to operate with the notion of charges 

and currents. 

Stationary relative to each other charges interact with force. 

 

𝑭 =  𝓴
𝒒𝟏 ∙ 𝒒𝟐

𝒓𝟐   - Coulomb Law, Newton. 

𝓴- coefficient, 

for a gravity 𝓴  =    √𝐆 ,  𝐆  - Newton's constant, 

𝒒гр.= √𝐆 ∙ m, 

m is the mass. 

Orderly moving charges should be considered their currents: 

𝐉 𝟏= 𝐪𝟏∙ 𝛝𝟏  , 
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𝐉 𝟐 = 𝐪𝟐∙ 𝛝𝟐 

Force interaction of currents, according to the Ampere is equal to: 

 
𝐉 𝟏 ∙  𝐉⃗⃗ 𝟐 

𝒓
   - linear density of force between currents at a distance r. 

Current 𝐉  around any kind of charge (electric, gravitational) there is a vortex 

(solenoidal) field 𝐁 ⃗⃗  ⃗ such that: 

 

rot 𝐁 ⃗⃗  ⃗ = 
𝟏

𝐂
 ∙ 𝐉 , 

𝐂- speed of disturbances in the field. 

  In this case, the force field is defined by the expression of the Lorentz force: 

𝐅 л = 𝑬⃗⃗ 𝒒 + q∙ ( 
𝝑

𝐂
  ˟  𝐁 ⃗⃗  ⃗) 

𝐅 л =  𝐅⃗⃗⃗⃗   пот. + 𝐅 вхр . 

 

𝐅  пот.    ⃦ 𝝑        𝝑 - скорость заряда  q    

𝐅 вхр.⏊ 𝝑 

 

    Force  𝐅  пот.    - makes a charge, change its speed by size. 

    The strength     𝐅 вхр .   - do not commit work, it only changes the direction of the 

velocity of the charge. 

    Fixed fields 𝐄⃗   and  𝐁 ⃗⃗  ⃗ do not interact with each other; changing in time, and give 

rise to each other: 

 

𝟏

𝐂
  ∙  

𝛛𝐄⃗  

𝛛𝐭
 = rot 𝐁 ⃗⃗  ⃗ 

 
𝟏

 𝐂
  ∙  

𝛛|𝐁⃗⃗ |

𝛛𝐭
 = div 𝐄⃗  

 

The general equations of any force field are of the form: 
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div 𝐄⃗    = 4π𝜌 -  
𝟏

С
 ∙

𝛛|𝐁⃗⃗ |

𝛛𝐭
, 

rot Е⃗⃗   ≡ 0, 

rot  𝐁⃗⃗   = 
𝟏

С
 ∙  𝐣   +  

𝟏

С
 ∙

𝛛𝐄⃗ 

𝛛𝐭
, 

div  В⃗⃗    ≡ 0, 

where 

 ρ -density of charges (electric, gravitational), 

j  -density currents (electrical, gravity), 

𝝆см  =   
𝟏

С
 ∙

𝛛|𝐁⃗⃗ |

𝛛𝐭
 -density of charges of bias, 

𝐣  cm =  
𝟏

С
 ∙

𝛛𝐄⃗ 

𝛛𝐭
 -  density currents shift. 

These equations differ from the equations of electrodynamics of Maxwell that always 

rot    Е⃗⃗   = 0;    
𝟏

С
 ∙

𝛛|𝐁⃗⃗ |

𝛛𝐭
  -is treated as offset charge density 𝝆cm. 

Result: 

look up the work of the author. 

 

 

 

 


